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Addition Drills (29) Name:
Solve each problem.
5+2=_ 6+2=_ 10+2=__ 2+2=__
3+2= 7+2= 4+2= 9+2=
8+2= 1+2=_ 5+2= 2¢2=
6+2=__ 9+2=_ 1+2=_ 10+2=_
3+2= 7+2= 8+2= 4+2=
2+2=_ 6+2=_ 5+2= 7+2=_
1+2= 9+2=_ 8+2= 4+2=
10+2=_ 3+2=_ 6+2= 10+2=
5+2= 9+2= 4+42= 3+2=_
7+2= 2¢2= 1+2= 8+2=
10+2=_ 5+2= 6+2= 1+2=
2+2= 4+2=__ 3+2=_ 7+2=
9+2=_ 8+2=__ 6+2=_ 3+2=
8+2=_ 2+2=__ 9+2=_ 5+42=
4+2= 10+2= 1+2= 7+2=
7+2=_ 8+2=_ 5+42=_ 4+2=__
2+2=_ 10+2= 6+2=_ 1+2=
3+2=_ 9+2=__ 5+2= 9+2=
10+2=_ 4+2=_ 8+2=_ 6+2=
1+2= 7+2=_ 2+2= 3+2=
7+2= 2¢2=_ 10+2=_ 5+2=
9+2= 3+2=_ 8+2= 1+2=_
6+2= 4+2=__ 7+2=_ 6+2=
S+2=_ 4+2=_ g+2=_ 10+2=_
1+2= 2¢2= 3+2= 9+2=
[ Math Y commoncoresoascom L o5 [ot oo 02152 ol 0|0 oo o e Lot oo o




=

Addition Drills (2s) Name: Answer Key
Solve each problem.
5+2=_ 7 6+2=_8 10+2=_ 12 2+2=_ 4
3+2=_5 7+2=_9 4+2=_6 9+2=_ 11
8+2=_10 1+2= 3 S+2=_ 7 2+2= 4
6+2= 8 9+2= 11 1+2= 3 10+2= 12
3+2=_ 5 7+2=_9 8+2=_10 4+2=_ 6
2+2=_ 4 6+2=_8 5+2=_ 7 7+2=_9
1+2=_ 3 9+2=_11 8+2=_10 4+2=_6
10+2=_ 12 3+2=_5 6+2=_8 10+2=_ 12
5+2= 7 9+2= 11 4+2= 6 3+2= 5
7+2=_9 2+2=_ 4 1+2= 3 8+2=_10
10+2= 12 5+2= 7 6+2= 8 1+2= 3
2+2=_ 4 4+2=_ 6 3+2=_ 5 7+2=_ 9
9+2=_ 11 8+2=_10 6+2=_ 8 3+2=_5
8+2= 10 2+2= 4 9+2= 11 5+2= 7
4+2=_ 6 10+2=_ 12 1+2=_ 3 7+2=_ 9
7+2= 9 8+2= 10 5+2= 7 4+2= 6
2+2=_ 4 10+2=__ 12 6+2=_ 38 1+2=_ 3
3+2=_ 5 9+2=_ 11 5+42=_ 7 9+2=_ 11
10+2= 12 4+2= 6 8+2= 10 6+2= 8
1+2= 3 7+2=_9 2+2=_ 4 3+2=_ 5
7+2= 9 2+2= 4 10+2= 12 5+2= 7
9+2=_11 3+2=_5 8+2=_10 1+2=_3
6+2=_8 4+2=_ 6 7+2=_9 6+2=_ 8
5+2= 7 4+2= 6 8+2= 10 10+2= 12
1+2= 3 2+2=_ 4 3+2=_ 5 9+2=_ 11
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Addition Drills (29) Name:
Solve each problem.
8+2=_ 2+2=_ 4+2=__ 3+2=_
5+2= 9+2= 1+2= 6+2=_
10+2=_ 7+2=_ 4+2=__ 1+2=
9+2=_ 6+2=_ 10+2=__ 8+2=_
5+2= 3+2= 2+2= 7+2=_
6+2=_ 4+2=__ g+2= 1+2=
3+2=_ 9+2=_ 10+2= 5+2=
(+2=_ 2+2=__ 6+2= 4+2=_
10+2=_ 1+2=_ 2+2=_ 9+2=
8+2= 7+2=_ 3+2=_ 5+2=
8+2=_ 10+2=__ 4+2=__ 6+2=_
9+2=__ 5+2= 1+2=_ 3+2=_
2+2=_ 7+2=_ 10+2= S+2=_
4+2=__ 3+2=__ 8+2=__ 2+2=__
6+2=_ 9+2=__ 7+2= 1+2=
+2=_ 8+2=_ 9+2=_ 10+2=_
4+2=_ 3+2= 6+2= 2+2=
1+2=_ 5+2=__ 3+2= 1+2=
9+2=_ 6+2=_ 4+2=__ 8+2=_
5+2= 2+2=_ 7+2= 10+2=
7+2=_ 4+2=_ 9+2=_ 1+2=_
8+2=_ 2+2=_ 5+2=_ 3+2=_
6+2= 10+2=__ 9+2=_ 7+2=_
S+2=_ 8+2=__ 3+2=_ 1+2=
10+ 2= 2+2= 4+2= 6+2=
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Addition Drills (2s) Name. Answer Key
Solve each problem.
8+2= 10 2+2= 4 4+2= 6 3+2= 5
5+42=_ 7 9+2=_ 11 1+2=_ 3 6+2=_ 8
10+2=_ 12 7+2=_9 4+2=_6 1+2= 3
9+2= 11 6+2= 8 10+2= 12 8+2= 10
5+2=_ 7 3+2=_ 5 2+2=_ 4 7+2=_9
6+2=_ 8 4+2=_ 6 8+2=__10 1+2=_ 3
3+2=_ 5 9+2=_ 11 10+2=_ 12 5+42=_ 7
7+2=_ 9 2+2=_ 4 6+2=_ 8 4+2=_ 6
10+2= 12 1+2= 3 2+2= 4 9+2= 11
8+2=_10 7+2=_9 3+2=_ 5 5+2=_ 7
8+2= 10 10+2= 12 4+2= 6 6+2= 8
9+2=_ 11 5+42=_ 7 1+2=_ 3 3+2=_ 5
2+2=_ 4 7+2=_ 9 10+2=__ 12 5+42=_ 7
4+2= 6 3+2= 5 8+2= 10 2+2= 4
6+2=_ 8 9+2=_ 11 7T+2=_9 1+2=_ 3
7+2= 9 8+2= 10 9+2= 11 10+2= 12
4+2=_6 3+2=_5 6+2=_8 2+2=_ 4
1+2=_ 3 5+2=_ 7 3+2=_ 5 1+2=__ 3
9+2= 11 6+2= 8 4+2= 6 8+2= 10
5+42= 7 2+2=_ 4 7+2= 9 10+2=_ 12
7+2= 9 4+2= 6 9+2= 11 1+2= 3
8+2=_ 10 2+2=_ 4 5+2=_ 7 3+2=_ 5
6+2=_ 8 10+2=_ 12 9+2=_ 11 7+2=_ 9
5+2= 7 8+2= 10 3+2= 5 1+2= 3
10+2=_ 12 2+2=_ 4 4+42= 6 6+2= 8
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C:h Addition Drills (2s) Name:

Solve each problem.

3+2= 10+2=_ 9+2= 1+2=
6+2= 8+2= 5+2= 7+2=
4+2=_ 2+2=__ 3+2=_ 2+2=__
9+2=_ 8+2=__ 6+2=__ 5+2=_
1+2= 7+2= 4+2= 10+2=
g+2= 9+2= 2+42=_ 10+2=
7T+2=__ 6+2=__ 3+2=__ 5+2=
4+2= 1+2=_ 3+2= 9+2=_
2+2=_ 10+2=__ 5+2= 7+2=
g+2=_ 1+2=_ 4+2=__ 6+2=_
2+2=_ 5+2=_ 10+2=__ 4+2=__
3+2=_ 1+2=_ 9+2=_ g+2=
6+2=_ 7+2=_ 1+2=_ 7+2=_
5+2=_ 10+2=_ 4+2=__ 9+2=_
3+2=_ 6+2=__ g+2=_ 2+42=
4+2=__ 2+2=__ 3+2=__ 8+2=__
1+2=_ 5+2= 10+2=_ 7+2=
9+2= 6+2= 7+2= 542=
10+2=_ 9+2=_ 8+2= 2+2=_
1+2=_ 4+2=__ 3+2=_ 6+2=
5+2= 10+2=_ 9+2= 2+2=
6+2= 7+2= 8+2= 3+2=
4+2= 1+2= 10+2=_ 9+2=
5+2=_ 4+2=__ 1+2=_ 8+2=__
3+2= 7+2= 2¢2= 6+2=
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Addition Drills (2s) Name. Answer Key
Solve each problem.
3+2= 5 10+2= 12 9+2= 11 1+2= 3
6+2=_8 8+2=_10 5+2=_ 7 7+2=_9
4+2=_ 6 2+2=_ 4 3+2=_ 5 2+2=_ 4
9+2= 11 8+2= 10 6+2= 8 5+2= 7
1+2= 3 7+2=_9 4+2= 6 10+2=_ 12
8+2= 10 9+2= 11 2+2= 4 10+2= 12
7+2=_9 6+2=_8 3+2=_5 5+2=_ 7
4+2=_ 6 1+2=_ 3 3+2=_ 5 9+2=_ 11
2+2= 4 10+2= 12 5+2= 7 7+2= 9
8+2=_10 1+2= 3 4+2= 6 6+2=_ 8
2+2= 4 5+2= 7 10+2= 12 4+2= 6
3+2=_ 5 1+2=_3 9+2=_ 11 8+2=_10
6+2=_ 8 7+2=_9 1+2=__3 7+2=_9
5+2= 7 10+2= 12 4+2= 6 9+2= 11
3+2=_ 5 6+2=_ 8 8+2=_10 2+2= 4
4+2=_ 6 2+2= 4 3+2=_5 8+2= 10
1+2= 3 5+2=_ 7 10+2=__ 12 7+2=_9
9+2=_ 11 6+2=_ 8 7+2=_9 5+2=_ 7
10+2= 12 9+2= 11 8+2= 10 2+2= 4
1+2= 3 4+2= 6 3+2=_5 6+2= 8
5+2= 7 10+2= 12 9+2= 11 2+2= 4
6+2=_ 8 7+2=_ 9 8+2=_ 10 3+2=_ 5
4+2=_ 6 1+2=_ 3 10+2=_ 12 9+2=_ 11
5+2= 7 4+2= 6 1+2= 3 8+2= 10
3+2=_ 5 7+2=_9 2+2=_ 4 6+2=_8
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C:h Addition Drills (2s) Name:

Solve each problem.

5+42= 2¢2= 1+42= 9+2=
6+2= 10+2=_ 3+2= 7+2=
4+2= g+2= 2¢2=_ 3+2=
10+2= 8+2= 7+2= 1+2=
5+2= 9+2= 6+2= 4+2=
8+2=__ 4+2=_ 7T+2=_ 10+2=__
6+2= 9+2= g+2= 1+2=
S+2=_ 2+2=__ 7+2= 3+2=_
1+2=_ 2+2=__ 5+2=_ 6+2=
g+2= 9+2= 10+2= 4+2=
6+2= 9+2= 1+2= 2+¢2=_
3+2= 7+2= 5+2= 8+2=
10+2= 4+2= 4+2=_ 10+2=
2¢2=_ 7+2=_ 1+2= 5+2=
6+2= 9+2= g+2= 3+2=
9+2=_ 1+2= 5+2= g+2=_
10+2=_ 2¢2=_ 4+42= 3+2=
6+2= 7+2= 1+2= 6+2=
8+2=_ 7+2=_ 5+2=_ 9+2=
3+2= 10+2= 2¢2= 4+2=
6+2=_ 3+2=_ 10+2=__ 4+2=__
9+2=_ 2+2=__ 7+2=_ 1+2=_
8+2=_ 5+2=_ 3+2=_ 1+2=
2+2=_ 10+2=__ g+2=_ 5+42=
7+2= 6+2= 4+2= 9+2=
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Addition Drills (2s) Name. Answer Key
Solve each problem.
5+2=_ 7 2+2=_ 4 1+2=_3 9+2=_ 11
6+2=_8 10+2=__ 12 3+2=_ 5 7+2=_9
4+2=_6 8+2=_10 2+2=_4 3+2=_5
10+2=_ 12 8+2=_10 7+2=_9 1+2=_ 3
5+42= 7 9+2= 11 6+2= 8 4+2= 6
3+2=_5 4+2=_ 6 7+2=_9 10+2=_ 12
6+2=_8 9+2=_11 8+2=_10 1+2=_3
5+2= 7 2+2= 4 7+2= 9 3+2= 5
1+2=_ 3 2+2=_ 4 5+2=_ 7 6+2=_8
8+2=_ 10 9+2=_ 11 10+2=_ 12 4+2=_ 6
6+2=_ 8 9+2=_ 11 1+2=_3 2+2=_ 4
3+2=_5 7+2=_9 5+2=_ 7 8+2=_10
10+2=_ 12 4+2=_6 4+2=_6 10+2=_ 12
2+2=_ 4 7+2=_9 1+2=_3 5+2=_ 7
6+2= 8 9+2= 11 8+2=_ 10 3+2= 5
9+2=_ 11 1+2=_3 5+2=_ 7 8+2=__10
10+2=_ 12 2+2=_4 4+2=_6 3+2=_ 5
6+2=_8 7+2=_9 1+2=_3 6+2=_8
8+2=_10 7+2=_9 S5+2=_ 7 9+2=_ 11
3+2= 5 10+2=_ 12 2+2=_ 4 4+2=_ 6
6+2=_ 8 3+2=_5 10+2=_ 12 4+2=_ 6
9+2=_11 2+2=_ 4 7+2=_9 1+2=__3
8+2=_10 5S+2=_ 7 3+2=_ 5 1+2=_3
2+2=_ 4 10+2=_ 12 8+2=_10 S5+2=_ 7
7+2=_ 9 6+2=_ 8 4+2= 6 9+2= 11
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Addition Drills (29) Name:
Solve each problem.
10+2=_ 3+2= 1+2=_ 5+2=
4+2= 6+2= 2+2= 8+2=
9+2=_ 7+2=__ 9+2= 2+2=_
1+2=_ 10+2=_ 4+2=__ 8+2=__
6+2= 7+2= 5+42= 3+2=
5+2= 7+2= 4+2=_ 2+2=
8+2= 1+2= 6+2= 9+2=
10+2=_ 3+2= 5+2= 9+2=_
8+2=_ 7+2=_ 6+2= 1+2=
2+2=_ 4+2= 3+2= 10+2=
8+2=_ 2+2=_ 9+2=_ 1+2=
5+2= 7+2= 10+2= 6+2=
4+2=_ 3+2= 7+2= 3+2=
8+2=_ 5+42=_ 10+2=_ 1+2=
4+2=_ 2+2=__ 6+2= 9+2=_
r+2=_ 4+2=__ 10+2=_ 3+2=_
2+2=_ 9+2=__ 5+2= 6+2=
g+2=_ 1+2= 9+2=_ 3+2=_
S+2=_ 1+2=__ 6+2=_ 2+2=_
10+2= 7+2=_ 4+2= 8+2=
7+2=_ 10+2=__ 8+2=_ 4+2=_
1+2=_ 9+2= 3+2= 2+42=_
6+2=__ 5+2= 5+2= 6+2=
2+2=_ 4+42=__ 10+2=_ 1+2=
9+2= 8+2= 7+2= 3+2=
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Addition Drills (2s) Name. Answer Key
Solve each problem.
10+2= 12 3+2=_5 1+2=_ 3 5+2= 7
4+2= 6 6+2= 8 2+2=__ 4 8+2=_ 10
9+2= 11 7+2= 9 9+2= 11 2+2= 4
1+2= 3 10+2=_ 12 4+2= 6 8+2=_10
6+2= 8 7+2=_9 5+2= 7 3+2= 5
5+2=_ 7 7+2=_09 4+2=_ 6 2+2= 4
8+2=_10 1+2=_3 6+2=_8 9+2=_ 11
10+2=__ 12 3+2=_ 5 5+42=_ 7 9+2=_ 11
8+2=_10 7+2=_9 6+2= 8 1+2=_ 3
2+2=_ 4 4+2= 6 3+2=_5 10+2=_ 12
8+2=_10 2+2= 4 9+2= 11 1+2=_ 3
5+2=_ 7 7+2=_9 10+2=_ 12 6+2=_8
4+2=_ 6 3+2=_ 5 7+2=_9 3+2=_ 5
8+2=_ 10 5+2=_ 7 10+2=_ 12 1+2= 3
4+2=_ 6 2+2=_ 4 6+2= 8 9+2=_ 11
7+2=_9 4+2= 6 10+2= 12 3+2=_5
2+2=_ 4 9+2=_11 5+2=_ 7 6+2=_8
8+2= 10 1+2= 3 9+2= 11 3+2= 5
5+2=_ 7 1+2=_3 6+2=_8 2+2=_ 4
10+2=_ 12 7+2=_9 4+2= 6 8+2=_ 10
7+2= 9 10+2= 12 8+2=_10 4+2=_ 6
1+2=_3 9+2=_11 3+2=_5 2+2=__ 4
6+2=_ 8 5+2=_ 7 S+2=_ 7 6+2=_8
2+2=_ 4 4+2= 6 10+2=_ 12 1+2=_ 3
9+2=_ 11 8+2=_10 7+2=_9 3+2=_ 5
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C:h Addition Drills (2s) Name:

Solve each problem.

6+2=__ 9+2=_ 8+2=__ 4+2=_
7+2=_ 3+2= 1+2=_ 2+2=
10+2=_ 5+2= 1+2= 4+2=
10+2=_ 3+2= 7+2= 2+¢2=_
6+2=_ 8+2=__ 9+2=_ 5+2=
9+2=_ 7T+2=__ 4+2=__ 8+2=_
5+2= 1+2= 6+2= 10+2=
2+2=_ 3+2= 9+2=_ 5+2=
2¢2=_ 10+2=_ 6+2= 7+2=
4+2= 3+2= 1+42= 8+2=
6+2= 10+2=_ 3+2= 7+2=
5+2= 8+2=_ 2¢2=_ 9+2=_
4+2=_ 1+2=_ 8+2=_ 3+2=_
1+2=_ 4+2=__ 10+2=_ 9+2=_
r+2=_ 6+2=__ 5+42=_ 2+42=
6+2=_ 5+2=__ 2+2=_ 8+2=_
3+2=__ 9+2=__ 7T+2=__ 1+2=_
4+2=_ 10+2=_ 5+2=_ r+2=__
3+2= 8+2= 2¢2=_ 4+42=
10+2=_ 6+2=_ 1+2=_ 9+2=
4+2=__ 1+2=_ 6+2=__ 2+2=__
3+2= g+2= 5+2= 10+2=
9+2= 7+2= 6+2= 8+2=
r+2=_ 4+2=__ 10+2=_ 2+2=__
5+42= 3+2= 1+42= 9+2=
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Addition Drills (2s) Name. Answer Key
Solve each problem.
6+2=_ 8 9+2= 11 8+2=_10 4+2=_ 6
7+2=_9 3+2=_5 1+2=_ 3 2+2=_4
10+2=_ 12 5+2=_ 7 1+2= 3 4+2=_6
10+2=_ 12 3+2=_ 5 7+2=_9 2+2=_ 4
6+2=_ 8 8+2=_10 9+2=_ 11 5+2=_ 7
9+2=_11 7+2=_9 4+2= 6 8+2=_10
5+2=_ 7 1+2=_3 6+2=_8 10+2=_ 12
2+2=_ 4 3+2=_5 9+2=_11 5+2=_ 7
2+2=_ 4 10+2=_ 12 6+2=_ 8 7+2=_9
4+2= 6 3+2=_5 1+2= 3 8+2=_10
6+2= 8 10+2= 12 3+2=_5 7+2=_9
5+42=_ 7 8+2=_ 10 2+2=_ 4 9+2=_ 11
4+2=_ 6 1+2=_ 3 8+2=_ 10 3+2=_ 5
1+2= 3 4+2= 6 10+2=_ 12 9+2= 11
7+2= 9 6+2= 8 5+2=_ 7 2+2= 4
6+2=_ 8 5+2= 7 2+2= 4 8+2=_10
3+2=_ 5 9+2=_ 11 7+2=_9 1+2=__3
4+2=_6 10+2=__ 12 5+2=_ 7 7+2=_9
3+2=_ 5 8+2=_ 10 2+2=_ 4 4+2= 6
10+2=_ 12 6+2=_ 8 1+2= 3 9+2= 11
4+2=_ 6 1+2=_3 6+2=_8 2+2=_ 4
3+2=_5 8+2=_10 5+2=_ 7 10+2=_ 12
9+2=_ 11 7+2=_9 6+2= 8 8+2=_10
7+2=_9 4+2= 6 10+2=_ 12 2+2=_ 4
5+2=_ 7 3+2=_5 1+2= 3 9+2=_11
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Addition Drills (29) Name:
Solve each problem.
1+2=_ 4+2= 9+2=_ 8+2=__
3+2=_ 5+2= 7+2= 10+2=
6+2= 2+2= 6+2= 10+2=__
9+2=__ 1+2= 8+2=_ 7+2=
2+2= 4+2= 5+2= 3+2=
2+2=_ 8+2= 3+2=_ 7+2=_
6+2=_ 5+2= 4+2=__ 9+2=
10+2=_ 1+2= 5+42= 2+2=_
10+2=_ 6+2= 1+2= 4+2=__
8+2= 7+2= 9+2= 3+2=
2+2=__ 4+2= 8+2=_ 10+2=__
6+2=_ 9+2= 1+2=_ 7+2=
3+2=_ 5+2= 9+2=_ 6+2=
3+2=__ 5+2= 4+2=__ 1+2=
2+2=_ 8+2= 7+2=_ 10+2=
2+2=__ 3+2= 9+2= 6+2=_
8+2= 5+2= 10+2= 1+2=
T+2=__ 4+2= 3+2= 8+2=
2+2=_ 1+2= 7+2=_ 4+42=__
10+2= 5+2= 6+2= 9+2=
8+2=_ 9+2= 3+2=_ 10+2=_
5+2= 4+2= 2+2=__ 6+2=_
r+2=_ 1+2= 4+2=__ 2+2=_
6+2=__ 3+2= 5+42= 8+2=_
1+2= 9+2= 7+2=_ 10+2=
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Addition Drills (2s) Name. Answer Key
Solve each problem.
1+2=_ 3 4+2=_ 6 9+2= 11 8+2= 10
3+2= 5 5+2=_ 7 7+2=_ 9 10+2=_ 12
6+2=_ 8 2+2=_ 4 6+2=_ 8 10+2=_ 12
9+2= 11 1+2= 3 8+2= 10 7+2= 9
2+2=_ 4 4+2= 6 5+2=_ 7 3+2=_5
2+2= 4 8+2= 10 3+2=_5 7+2=_09
6+2=_ 8 5+2= 7 4+2=_ 6 9+2=_ 11
10+2=_ 12 1+2=_ 3 5+42=_ 7 2+2=_ 4
10+2= 12 6+2= 8 1+2= 3 4+2= 6
8+2=_ 10 7+2=_ 9 9+2= 11 3+2= 5
2+2= 4 4+2=_ 6 8+2= 10 10+2= 12
6+2=_8 9+2=_11 1+2=_3 7+2=_9
3+2=_ 5 5+2=_ 7 9+2=_ 11 6+2=_8
3+2=_ 5 5+2=_ 7 4+2=_6 1+2=__3
2+2=_ 4 8+2=_10 7+2=_9 10+2=_ 12
2+2=_ 4 3+2=_5 9+2=_ 11 6+2=_ 8
8+2=_10 5+2=_ 7 10+2=_ 12 1+2=_ 3
7+2=_ 9 4+2=_ 6 3+2=_ 5 8+2=_ 10
2+2=_ 4 1+2=__3 7+2=_9 4+2=_6
10+2=_ 12 S+2=_ 7 6+2= 8 9+2=_ 11
8+2= 10 9+2= 11 3+2= 5 10+2= 12
5+2=_ 7 4+2=_6 2+2=_ 4 6+2=_8
7+2= 9 1+2= 3 4+2= 6 2+2= 4
6+2= 8 3+2= 5 5+2= 7 8+2= 10
1+2=_ 3 9+2=_ 11 7+2=_ 9 10+2=__ 12
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C:h Addition Drills (2s) Name:

Solve each problem.

1+2=_ 2+2=__ 5+2=_ 4+2=__
10+2=_ g+2=_ 7+2=_ 9+2=
6+2=_ 3+2=__ 4+2= 2+42=
9+2= 6+2= 5+2= 10+2=

3+2= 1+2=_ 7+2= 8+2=
1+2=_ 4+2=_ 3+2= 5+42=
7+2= 2+2=_ 10+2=__ 9+2=
6+2=_ 8+2=_ 2+2=_ 5+2=
3+2=_ 4+2=__ 10+2=__ g+2=
6+2= 7+2= 9+2= 1+2=
4+2=_ 5+42= 3+2=_ 1+2=_
g+2=_ 6+2= 9+2=_ 10+2=
2+2=_ 7+2=__ 2+2=_ 7+2=_
3+2=_ 5+42= 1+2=_ 6+2=
9+2=_ 4+2=_ 10+2=_ 8+2=
7+2= 10+2=__ 6+2= 9+2=_
3+2=_ 4+2=_ 5+2= 1+2=
8+2=_ 2+2=_ 10+2=_ 3+2=_
4+2=__ g+2= 2+2=_ 1+2=_
6+2=_ 7+2=__ 9+2=_ 5+2=
9+2=_ 4+2=_ 2+2=_ 5+2=
6+2=_ 3+2=_ g+2=_ 10+2=
7+2=_ 1+2=_ 5+2= 8+2=
3+2=_ 1+2=_ 6+2= 2+2=_
9+2=_ 7+2= 10+2=_ 4+2=
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Addition Drills (2s) Name. Answer Key
Solve each problem.
1+2=_ 3 2+2=_ 4 5+2=_ 7 4+2=_ 6
10+2=_ 12 8+2=_10 7+2=_9 9+2=_11
6+2=_8 3+2=_5 4+2= 6 2+2= 4
9+2= 11 6+2=_8 5+42=_ 7 10+2=_ 12
3+2=_ 5 1+2= 3 7+2=_ 9 8+2=_10
1+2=__3 4+2=_ 6 3+2=_ 5 5+2=_ 7
7+2=_ 9 2+2=_ 4 10+2=__ 12 9+2=_ 11
6+2=_ 8 8+2=_ 10 2+2=_ 4 5+2=_ 7
3+2=_ 5 4+2= 6 10+2=_ 12 8+2=_ 10
6+2=_ 8 7+2=_ 9 9+2=_ 11 1+2=_ 3
4+2=_ 6 5+2=_ 7 3+2=_ 5 1+2=_3
8+2=_10 6+2=_8 9+2=_ 11 10+2=_ 12
2+2=_ 4 7+2=_9 2+2=_ 4 7+2=_9
3+2=_ 5 5+2=_ 7 1+2=_3 6+2=_8
9+2=_11 4+2=_ 6 10+2=_ 12 8+2=_10
7+2= 9 10+2= 12 6+2=_ 8 9+2=_ 11
3+2=_ 5 4+42=_ 6 5+42=_ 7 1+2=_ 3
8+2=_ 10 2+2=_ 4 10+2=_ 12 3+2=_ 5
4+2= 6 8+2=_10 2+2=_ 4 1+2=_ 3
6+2=_ 8 7+2=_9 9+2=_ 11 5+2=_ 7
9+2=_ 11 4+2=_6 2+2=_ 4 5+2= 7
6+2=_8 3+2=_ 5 8+2=_10 10+2=_ 12
7+2=_ 9 1+2=_ 3 5+42=_ 7 8+2=_ 10
3+2=_ 5 1+2=_3 6+2=_8 2+2=_ 4
9+2=_11 7+2=_9 10+2=_ 12 4+2=_ 6
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Addition Drills (29) Name:
Solve each problem.
5+2=_ 6+2=__ 3+2=__ 1+2=_
9+2=_ 2+2=_ 10+2= 8+2=
4+2=__ 7+2=_ 9+2= 1+2=_
8+2=_ 3+2=_ 2+2=_ 7+2=_
10+2=_ 6+2=_ 4+2= 5+2=
2+2=_ 5+2=_ g+2=_ 1+2=
9+2=_ 4+2=__ 7+2= 6+2=_
10+2=_ 3+2=_ 3+2= 2+2=_
10+2=_ 8+2=_ 5+42= 6+2=
4+2=_ 1+2=_ 9+2= T+2=_
2+2=__ 4+42=__ 10+2=__ 6+2=_
r+2=_ 5+2=__ 3+2= 9+2=_
1+2=_ 8+2=__ 8+2= 9+2=_
5+42=_ 7+2=_ 10+2=_ 6+2=_
4+2=_ 3+2=__ 1+2= 2+2=__
2+2=_ 7+2=_ 9+2=_ 1+2=
3+2=__ 8+2=__ 4+2= 10+2=
S+2=_ 6+2=__ 5+2= 6+2=_
9+2=__ 2+2=__ 1+2=_ 7+2=
4+2=_ 8+2=_ 10+2= 3+2=__
2+2=__ 7T+2=__ 4+2=__ 1+2=_
8+2=_ 6+2=__ 10+2= 3+2=
5+42=_ 9+2=_ 9+2= 8+2=
r+2=_ 4+2=__ 6+2=__ 3+2=__
10+2=_ 2+2= 1+2= 5+2=
D - I




=

Addition Drills (2s) Name. Answer Key
Solve each problem.
5+2=_ 7 6+2=_8 3+2=_ 5 1+2=__3
9+2=_ 11 2+2=_ 4 10+2=__ 12 8+2=_ 10
4+2=_ 6 7+2=_ 9 9+2=_ 11 1+2=_ 3
8+2=_10 3+2=_ 5 2+2=_ 4 7+2=_9
10+2=_ 12 6+2=_ 8 4+2= 6 5+2=_ 7
2+2= 4 5+2= 7 8+2=_10 1+2=_ 3
9+2=_11 4+2=_ 6 7+2=_9 6+2=_ 8
10+2=_ 12 3+2=_5 3+2=_5 2+2=_4
10+2=_ 12 8+2= 10 5+2=_ 7 6+2=_ 8
4+2=_ 6 1+2=_ 3 9+2= 11 7+2=_9
2+2= 4 4+2= 6 10+2= 12 6+2=_ 8
7+2=_9 5+2=_ 7 3+2=_5 9+2=_ 11
1+2=_ 3 8+2=_10 8+2=_10 9+2=_ 11
5+2=_ 7 7+2=_9 10+2=_ 12 6+2=_ 8
4+2= 6 3+2= 5 1+2=_ 3 2+2=__ 4
2+2= 4 7+2=_9 9+2= 11 1+2=_ 3
3+2= 5 g8+2=_ 10 4+2= 6 10+2=__ 12
5+2=_ 7 6+2=_38 5+2=_ 7 6+2=_8
9+2= 11 2+2=_ 4 1+2= 3 7+2=_9
4+2= 6 8+2=_ 10 10+2=_ 12 3+2= 5
2+2=_ 4 7+2=_9 4+2=_ 6 1+2=_3
8+2=_10 6+2=_8 10+2=__ 12 3+2=_ 5
5+2=_ 7 9+2=_11 9+2=_11 8+2=_10
7+2=_9 4+2=_ 6 6+2=_ 8 3+2=_ 5
10+2=_ 12 2+2=_ 4 1+2= 3 5+2=_ 7
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Addition Drills (29) Name:
Solve each problem.
1+2=_ 9+2=__ 5+2=_ 10+2=__
7+2=_ 4+2= 8+2= 3+2=__
2+2=_ 6+2= 4+2=__ 3+2=_
9+2=_ 8+2=__ 6+2=_ 7+2=
2+2=_ 1+2= 10+2= 5+42=
8+2=_ 2+2=_ 9+2=_ 10+2=_
1+2= 7+2=_ 5+2= 4+2=
6+2=_ 3+2=__ 2+2=__ 7+2=
8+2=_ 5+2=__ 1+2=_ 6+2=
9+2=_ 10+2= 4+2=_ 3+2=
g+2=_ 3+2=_ 7+2=_ 9+2=_
2+2=__ 4+2=__ 10+2= 5+2=
6+2=_ 1+2=_ 7+2=__ 4+2=_
9+2=_ 1+2=_ 6+2=_ 10+2=_
g+2= 2+2=_ 5+42= 3+2=
10+2=__ 6+2=_ 2+2=_ 7+2=_
9+2= 8+2=__ 4+2=__ 3+2=
1+2=_ 5+2=__ 6+2= 2+2=_
10+2=_ 5+2=_ 9+2=_ 3+2=
1+2= 8+2=__ 4+2=__ 7+2=
5+2=_ 1+2=_ 3+2=__ 4+42=__
10+2= 7+2=_ 9+2=_ 2+2=_
8+2= 6+2= 3+2= 5+2=
6+2=_ 8+2=_ 7+2=_ 2+2=_
9+2= 10+2= 1+2= 4+2=_
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Addition Drills (2s) Name. Answer Key
Solve each problem.
1+2= 3 9+2= 11 5+2= 7 10+2= 12
7+2=_ 9 4+2=_ 6 8+2=_ 10 3+2=_ 5
2+2=_ 4 6+2=_ 8 4+2=_ 6 3+2=_ 5
9+2= 11 8+2= 10 6+2= 8 7+2= 9
2+2=_ 4 1+2= 3 10+2=_ 12 5+2= 7
8+2= 10 2+2= 4 9+2= 11 10+2= 12
1+2=_ 3 7+2=_ 9 5+42=_ 7 4+2=_ 6
6+2=_ 8 3+2=_5 2+2=_ 4 7+2=_ 9
8+2= 10 5+2= 7 1+2= 3 6+2= 8
9+2=_ 11 10+2=_ 12 4+2= 6 3+2=_ 5
8+2= 10 3+2= 5 7+2= 9 9+2= 11
2+42= 4 4+2= 6 10+2=_ 12 S+2=_ 7
6+2=_ 8 1+2=__ 3 7+2=_ 9 4+2= 6
9+2= 11 1+2= 3 6+2= 8 10+2= 12
8+2= 10 2+2= 4 5+2= 7 3+2=_5
10+2= 12 6+2= 8 2+2= 4 7+2= 9
9+2=_11 8+2=_10 4+2=_6 3+2=_ 5
1+2=_ 3 5+2=_ 7 6+2=_8 2+2=_ 4
10+2= 12 5+2= 7 9+2= 11 3+2= 5
1+2= 3 8+2=_10 4+2= 6 7+2=_ 9
5+2=_ 7 1+2=_3 3+2=_ 5 4+2=_ 6
10+2=_ 12 7+2=_ 9 9+2=_ 11 2+2=_ 4
8+2=_10 6+2=_8 3+2=_ 5 5+2=_ 7
6+2= 8 8+2= 10 7+2= 9 2+2= 4
9+2=_ 11 10+2=_ 12 1+2= 3 4+2= 6
[ Math Y\ commoncoesoascom 10 1o (ot 331210110013 e 2 19 8L el 0 oo




	 1
	
	

	 2
	
	

	 3
	
	

	 4
	
	

	 5
	
	

	 6
	
	

	 7
	
	

	 8
	
	

	 9
	
	

	 10
	
	


